A—F—LUFTFTILIRYLTAF

mE

CWTDA250
CWTDA30O
CWTDA350
CWTDA450

CWTDA250 (a—F+—LYFF7ILSRYLTAF 250) CWTDAS350 (a—4+—LYFF ISR LTAF 350)
HRES B & R #E| N MBS B & A #=| No.
1122640 | &KI& 1 1 1603502 | K{X 1 1
1122655 | JL—LA 1 2 1603465 | JL—LA 1 2
1126003 | EHT 1 3 1128003 | EHZ 1 3
1126004 | 4—L 1 4 1128004 | “4—L 1 4
1126005 | RERTYLHEY 6 X 40AW 1 5 1128005 | JRERTFYLHEY 6 X 56AW 1 5
1126006 | Ev 1 6 1127006 | Ev 1 6
1126007 | EVBL/AHR 1 7 1126007 | E LR 1 7
1126008 | FL—LUNyk 1 8 1128008 | JL—LURyk 1 8
1126009 | EEftEEY 1 9 1128009 | ERftEEY 1 9
1126010 | FES 1 10 1128010 | FES 1 10
1126011 | R/8q(A—JLEY 6 x 12 1 11 1126011 | R/8q/A—JLEY 6 x 12 11
1122660 | 1tk 1 12 1603532 | iEth 1] 12
1580013 | RANRFERILE M4 x 10 1 13 1580013 | RANRMFERILE M4 x 10 1 13
CWTDAS300 (a—4+—LYFFISRYLTAF 300) CWTDA450 (A—4+—LYFFISRYLTAF 450)
HaRES T HE| N HERES B & A #=| No.
1580001 | &{& 1 1 1728660 | A4& 1 1
1580002 | JL—L 1 2 1728690 | JL—LA 1 2
1580003 | EH 1 3 1728700 | £E&HZ 1 3
1580004 | A4—L 1 4 1728730 | “A4—L 1 4
1580005 | JRERTYLHEY 6 X 40AW 1 5 1728701 | RERTYLHEY 8 X 56AW 1 5
1580006 | Ev 1 6 1141006 | Ev 1 6
1580007 | ELBL/SH 1 7 1728735 | E LR 1 7
1580008 | FL—LUANyk 1 8 1686600 | JL—LNyk 1 8
1580009 | EEftEEY 1 9 1686605 | ER{tEEY 1 9
1580010 | FEES 1 10 1141010 | FES 1 10
1580011 | R/8q(A—LEY 6 X 12 1 11 1728702 | R/8/A—LEY 6 X 16 11
1580012 | 1tk 1 12 1728720 | i@tk 1] 12
1580013 | ARANRFFERILE M4 x 10 1 13 1139012 | RANRMERILE M5 x 10 1 13

2018.09.27






